Argument Outline 1

Philosophical Inquiry

Background

One of the most important skills in doing philosophy (or having productive arguments generally) is clearly and accurately summarizing another person’s argument. The first part of doing so is figuring out the barebones of that argument – namely, how it is supposed to proceed logically.
So far, you have mostly been taught to read in such a way as to understand the main point of a passage, and maybe also to gather some facts from it. But there is a different way of reading that will train you to notice the movement of the argument as you read. This will help you understand in detail what work each sentence or clause is doing, and it will remind you to look for hidden assumptions.
For this assignment, you will need to make a numbered argument outline: a representation of the movement of the argument that shows which premises support which conclusions (a bit like a geometry proof). You will need to distill the crucial premises from a longer piece of text, which will include at least partially rewriting the premises in your own words. But you must arrive at the conclusion as I give it below.
Assignment
Section to analyze: Plato, Euthydemus, trans. Sprague, lines 279a-281e [please include this information so I know you’re referring to the right section; if you absolutely must use a different translation, please tell me who translated it]

Major Conclusion (see 281e): Only wisdom is good, and only ignorance is bad.
Hints: The “only” qualifications in the conclusion are really important here. Notice Soc’s summary at 281d. Please largely ignore the discussion of good fortune (279c-280b); this is a bit of a side issue. The bit about “their opposites” in 281d refers to the opposites of things like riches, healthy, beauty, justice, etc. (so: poverty, sickness, ugliness, being unjust…). Finally, and most importantly, do not fail to recognize that this argument, although a bit longer than the one in the Meno, works roughly the same way as the one we did in class (where the conclusion was that virtue is wisdom, in whole or in part).
Notes

You only need to turn in the final, numbered version (step 3 in the first example below).
Each of the terms in the argument’s conclusion should appear first in the premises, which may involve a certain amount of translation of synonymous words or phrases (as I have done in parentheses with ‘=’ in the example below). Anytime you conclude something from other premises, please use the word ‘therefore’ and include in parentheses after it the numbers of the premises from which it follows. It should be true that if I only read the premises cited by number in your final conclusion, that conclusion will still follow. The rest of the premises are simply supporting arguments for these minor conclusions.
Your premises and conclusion should themselves be complete sentences!
It may be tempting, but do not summarize all of the things that have been said prior to this section as your first few premises. Start from whatever is logically (even if not spatially) the first premise that is provided in the given section of the text. That means: whatever is not explained elsewhere in the argument, and from which the argument flows. This may not be the first line.

Examples from the text are not premises – and thus are not strictly necessary – but may support premises. Indent them on the line below the premise they support (as with #8 in the example below) if you want to include them.

Questions are not premises as questions. Make them into statements (if-then statements, for example, or just direct statements if they are rhetorical questions).
Step-by-step Instructions and Examples (with example from Meno 93e-94e, Socrates’ discussion with Anytus)
Start by thinking about the conclusion of the argument (which, in this case, I’ve indicated). Then, try to justify that conclusion using the fewest number of premises possible. (The premises should be paraphrases of things said in the text.)

Example, Step 1:

Conclusion: There are no successful teachers of virtue

Support: A) If anyone would be (or be able to find) a good teacher, a good man would, so long as he wanted his sons to be good
   B) Many fathers in Athens are good (at least, at public affairs)
   C) Such men must have wanted their sons to be good

   D) Most of their sons are not good

Next, find supporting arguments for the premises, if there are any given. In other words, take the premises as minor conclusions that together necessarily entail the major conclusion. Reiterate for each supporting premise if possible.
Example, Step 2:

Minor Conclusion (A): If anyone would be (or be able to find) a good teacher, a good man would, so long as he wanted his sons to be good [No support given; Anytus grants this]
Minor Conclusion (B): Many fathers in Athens are good (at least, at public affairs)
[No support given; Socrates grants this]

Minor Conclusion (C): Such men must have wanted their sons to be good

Support: a) Good men would not willingly let their sons fail to be good
Support: 1) Good men would not want other people in general to be bad, especially not their sons


   
   2) Good men would not hoard their own excellence

b) Good men would not unwillingly let their sons fail to be good (i.e., would not neglect to teach their sons human excellence if it were teachable)

1) In fact, many of these good men succeeded in teaching their sons excellence in all clearly teachable respects

Minor Conclusion (D): Most of their sons are not good
[No support given; this is apparent to those familiar with the sons]

Finally, arrange these in numbered form so that it is clear both which premises the different conclusions follow from and how those conclusions are then used in the overall argument. If a number ends up not getting used (directly or indirectly) in the final conclusion, the premise that it numbers is unnecessary and should be omitted.

Example, Step 3 [this is what I would turn in]:
1. If anyone would be (or be able to find) a good teacher of virtue, a good man would, so long as he wanted his sons to be good.
2. Many fathers in Athens are good (at least, at public affairs).
3. Good men would not want other people in general to be bad, especially not their sons.
4. Good men would not hoard their own excellence.
5. Therefore (3+4), good men would not willingly let their sons fail to be good.
6. In fact, many of these good men succeeded in teaching their sons excellence in all clearly teachable respects (e.g., archery).
7. Therefore (6), good men would not unwillingly let their sons fail to be good (= would not neglect to teach their sons virtue if it were teachable).
8. Therefore (5+7), such men must have wanted their sons to be good.

Ex.: Themistocles, Aristides, Pericles, Thucydides

9. Most of their sons are not good.
Major Conclusion: Therefore (1+2+8+9), there are no successful teachers of virtue (= no one has been or has found a good teacher of virtue).
Further example, from a different book (Hannah Arendt, The Human Condition, p. 9). By reading this, you should be able to understand the argument pretty well without ever reading the paragraph from which it’s taken. Aim for that in your outline, as well.
1. Life (= existence) has been given to man under certain natural conditions.

2. Whatever men make has the same power to condition them as natural things (variability and human origin notwithstanding).

3. Therefore (1+2), everything that men come into contact with (= natural things and made things) becomes a condition of their existence.

4. Being conditioned by everything means that human existence would be impossible without the world of objects.

5. Man’s production of things fashions such a world of objects.

6. Therefore (3-5), human existence is always conditioned existence, dependent upon the objectivity of the produced world.

7. Becoming a condition of man’s existence requires a thing to assuming a new character (as a condition for the existence of man).

8. This character relates it both to man and to the other things that are also conditions of human existence.

9. This relation is one of meaningfulness (purpose) within a world; the new character is that of an object within that world.

10. Therefore (7-9), becoming part of the human condition makes mere things into an objective world.

Major Conclusion (6+10): The world’s objectivity and the human situation condition each other.
Notice: If you start by reading the major conclusion, then read only the numbers referred to in it (6 and 10), then read only the numbers referred to in those (3-5 and 7-9), and keep going that way, you will get to all of the numbers. That means all the premises are useful for the argument.
